1

PARTS LIST
ITEM][QTY PART NUMBER DESCRIPTION
Front Mount Conv. 1 [ 1 [70-1701L TTX 230 FT Side Brace LH
McCormick 2 | 1 [70-1301 TTX Hook
3 | 1 |70-1701R TTX 230 FT Side Brace RH

TTX 185,TTX 200, TTX 215
TTX 190, TTX 210, TTX 230

Bolt List

QTY |Description Placement
8 |20 mm x 60 mm Bolts Side Brace to Tractor
8 |20 mm Harden Flatwashers
4 (3/4x21/2 Bolts Side Braces to Hook
8 |[3/4x21/2Bolts Hook to Saddle
12 |3/4 in Lock Washers
12 [3/4 in Nuts

CONV ID: MC-TTX-09CU-FM-CONV

Price

List

$1208.00
Limitations may apply. Please

consult API Sales at
800-288-1117.




